

Multiply by 10^{-1} (C)

Find each product.

$$96 \times 10^{-1} =$$

$$36 \times 10^{-1} =$$

$$58 \times 10^{-1} =$$

$$52 \times 10^{-1} =$$

$$11 \times 10^{-1} =$$

$$76 \times 10^{-1} =$$

$$66 \times 10^{-1} =$$

$$91 \times 10^{-1} =$$

$$54 \times 10^{-1} =$$

$$68 \times 10^{-1} =$$

$$27 \times 10^{-1} =$$

$$1 \times 10^{-1} =$$

$$94 \times 10^{-1} =$$

$$83 \times 10^{-1} =$$

$$29 \times 10^{-1} =$$

$$19 \times 10^{-1} =$$

$$74 \times 10^{-1} =$$

$$1 \times 10^{-1} =$$

$$13 \times 10^{-1} =$$

$$59 \times 10^{-1} =$$